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33. Brceiftor omiou, sedcamn
aorol sxdl ol ufiem-209s

e Which of the following is the correct contracted form of ‘T will’?
‘ () 111 (?) I . (3) Ot (¥) i

%.%.  Heis neither sincere... ... hard working.
(%) no - () not - (3) nor (¥) never

. 3; The ... of the flowers filled the room. :
(%) sent (R) cent (3) scent (¥) saint

9.¥.  ‘Rahulisgood ...... drawing’. Choose the right preposition and fill in the blank.
(%) for (3) with - (3) at : (¥) on

Wl wevens reservation alone will not improve the lot of women, it will certainly help.
(%) Though - (R) But (3) Neither (¥) And _

.8 2% fa@dia g0 woR @R WM WA daew wW ¢ TR T Raww wwew
(1) A& ¢ (R) 2 (3) R (¥) ¥ ‘

T.l9. TR Y& USAS Tgew, usAemel fuvdE wes, ﬁs@mmm
VETHIVTSAT HUTE TgZe, A Y&ash =ATae] HTd SIS ?

(%) recehIw *R) ’@m‘qﬁ (3) =T (%) Ittt T
q.¢.  TEW T SHOA WiE siwwr. :

(2) 9 () st (3) gws - (¥) affFerar
¥.2. W 3§ X &% = §&3%

' ¥3 X ¥0 = 3¥%0

&% X €3 = %¢&3I
W AT RATTER 9 X /% =7 | _
(2) 438 (?) 128 (3) R (¥) 8¢y

T.20. 2.3 X 2.3 4 0. X 0.£ + ¥ X 0.¢ .
(2) 3 () ¥ (3) % | (¥) 28
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W.2¢  Most of us are happy to talk about health. ..... very few go for it.

Join the sentence with conjunction given below:

(2) and () because (3) or (¥) but

W.93  What is the tense of the following sentence? He ran fast to catch the bus.
(%) past perfect tense (R) past continuous tense
(3) simple past tense _ (%) simple present tense

9.23  Fillin the blank with the correct word. A friend in need is a friend ......
' (2) really () inneed (3) indeed - (¥) indeed

. é}f Which of the following sentence has been written in past perfect continuous tense?
() It was raining when 1 went to his house
(?) It had been raining when I went to his house
(3) It had rained when to his house.

(¥) It rained when I went to his house.

W.%%  Though the summer is not, the farmers continue their work.

The underlined clause is an adverb clause of ......

(%) result (R) purpose (3) condition - (¥) contrast
W.35. R BAD 71 Vieg wihfaw WWw 5-4-7 o fofgen, ™ NATION mmqmzﬁ
Wik Taia HIvTar ?
(2) 17-4-23-12-19-17 () 17-4-22-11-18-17
(3) 17-4-23-12-18-17 : (%) 174 22—12—18 17
T.%6. WrEdE anqwﬁ?r g it Breror freama ?
Pty o Ay e
(3) (¥) 2.

T.9¢. TRV G AT HET INT AT, IEAT IMSAT AT IW R g @ dm
HICHATA TTAIHS THST. AT UL TS HIVeAT AT ATE 7

(%) sr=m () 35/ : (3) =mTr=AT (¥) T

T.%9%. maﬁrﬁmnﬁrmawaﬁmmf&wmﬁhﬁmﬁaﬁ
ehTell ST getertreht Hrore ?
(R) ¥ (R) ¥3 . {3) ¥R (¥) ¥&

W.20. B.ELEW. Trdl 209 fu00 FUATE 3 AWH 980 F. TH FES?

2 (2) ¢% (R) 2% (3) 20% (¥) €%
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3
2 L | (O W did they see the tiger ...... they ran away.
(%) Hardly, when () No sooner, than
(3) like, better than (¥) Not only, but also
W.2?  Write ol.iposite word of ‘substantial’.
: (2) imaginary (R) unsuitable (3) insufficient (¥) sublime
WOH ¥ s God help you. b 2 -
(%) The () A (3) An (¥) NoArticle

W.?¥  The function will take place ...... 8.00am...... 10.00 pm.
' - Choose the most appropriate pair of prepositions.

| (%) from, and (?) since, to (3) till. and (¥) between, and
9.24  God helps ...... who ...... .themselves. i
(%) they, help (R) him, help (3) those, help (%) those, helps
W.RE.  bucR3e wWiEW = ... TR, '
(2) Wuc.R38  (R) W4.LR3 (3) W4¢R.30 " (¥) ©.43330

U.R%. A 7 SHUT UIH IASEl,
(2) fa. = @iz () fa. a1 fmEew (3) 3. @. gmiy () T R
.R¢. ara vata Past wenm : oiew 17 2 wOgw
. (%) & (R) = (3) T (¥) Feargs
T.3%. THh ME wo R udt e S aEs ey, a‘rqasa‘nmamwﬁﬁmm
- qrEd, W STt et gun a7
(2) quo0 Hi@w  (R) R000 @ (3} 2400 tﬁa (¥) 3000 Hix

9.30.

(1) =i, S, geu () &, 9, €6

(3) wom, e, S (%) TS, aTes, SiaER
¥.3%. STGHR G, UTHION W gedt 1!

(2) foeriet  (R) I (2) 0% (¥) o
9.33. Teoem arpy=mren o1df avifEome g uyata Fagn. - g aor

(z)étm (R) T THsd (3) wror wmo (¥) FeIea1 H
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: 4
0.33. W Wordl sHedl Wis! Adie AUREd e veeren e w7
(1) GO (3) e (3) @ . (¥) g
U.3¥. Weledsh! g g et
(R) 95 99 = 9 u& (R) GYal = Tt TG @S St

(3) TaaEl = YRS AiE@om (¥) ft = vt w@m Fwom
.34, WISGUh! Haaaul hIuTar?
g - (k) =7 S : (¥) q
W.35. ¥ 3R Sudtem siveTET WRATHS UNafE T g ST, S,
- (3) WRdT wTEMRIRY TEvaS ¥ At wrEea T,
() W IR ww HRE WS
(3) wwet wre ffew wremft weat & wewen AL
Ffietdt wom Fuw St aw?
() A, Bafor C () B 3ufer C (3) A snfr B (¥) %aa C
.39, VTERE HHATETER THA HREI g6y IqvaTa wivlt 56 qrae ¢
S (R)BE R (R) WS THEA (3) &€ fA (¥) @ 3. gu
T.3¢. TR wem fauin seer frew woar?

(2) WER () B (3) awwch (¥) it g
¥.3%. STEHEAR ©ft TATEAT RS FrATHVEY A ... O HS? _

(2) 3.9. 2838  (R) 3.9. 3¥R0 (3) 3.4, 2uR0 (¥) 3.9. 203
W.%0. WS wien sifera wen gwi frevamet wEwg weAw L Tiean

ATFIETH AR A g ?

() T P (2) TR SR () TR g () 7. o e
T.¥E. AHOLIAN T Wed WUl WINHYT TAR W AR?
(x) T + BREf (2) Wt + wwet (3) RO+ W@ (v) O +

T.¥2. guT™ 9R WO fHEm . grat.

(1) e il s (3) by s

N.¥3. 3ITRHe fhamae AEe® a9 sisar. .
(2) @ 9l R, (R) waft T weRel,
(3) T R HTEl. ; (¥) oM e Hifae.
Wy, Wt wd gE o ww emR? i
(%) 1l SduTHTeS C(R) w1 A

- (3) T TS T (¥) 1 YEe
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5

T.%Y. ‘gq:rgrgrfﬁtrﬁtwtnga'é\m aﬁ&@ﬂwmﬁmﬁﬁwﬁm amg?

(2) Fraereste frnfesor R) gfaesis R

(3) Feuftess frmnfasmm : (x)mmﬁﬁw :
U.¥%. 3gHETR Rregmd U@t ... J9 grgraaTa fresard.

(3) @t wreelt () TR (3) e (%) 3HA

T.¥e. UWEY UNOUTS ...... 3 armga. : 2 i,
(2) &I, 9. 9di® (R) Tee=HA wd (3) T . f&® (¥) T uidis
T.¥¢. WO 7 Iea Wrefteid st deEfta oy ? -
(2) ®9 fFAr=aiie 9@ 3
() HrwvTEn UfTiSle Tl e aEe 9.
- (3) Fwu fEEdS 9B
(¥) FrwuTdics wa 4.
T.%%. mﬁmg@amgﬁwﬁmmwﬂ@wﬁwﬁm
qu@et?
(2) @ #. e () w. R (3)w.a'€r.aa§s (¥) ardhi e
T.40. WRHAE BAREEEEET @ (2) 1 HOUTE WTHE@Uh! R WA= &y
. HETEY AR ?
(%) o g Irfireredt @,
(R) T WA _ |
(3) WRaT= USIEATE §a9 Joa9ul H9r @
(%) fommeres 9 widds @& gerauul §9R S,
T.u%. Wit o I gt et wHiE L. 65
() #rea® () Rra (3) TeHes (¥) =mméa

T4, ‘ETE giET WA @’ A wguften eved W
(2) orpedEaTEn 9 FEREEE.
(R) FeEET T8 IHE EEN.

(3) ¥R 94 T, T = Gon ig® Ugdar.
(%) YT AOETAT ALE AU BRI,
q.u3. mEEAr o wut Seedt.” ar areara g s ?
(2) vt Rl () e wuR (3) e (¥) gt
q.uy. WS T dad v won ae? |
T YT ST @A, df WO gl | 4
(3) gom () s C (3) W (¥)
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n.uy. TrEeg we fom - wen

(2) PR () F=R - (3) R (¥) TOmER
T.uE. WEOEIE HUATS WRAT seraiatie; e qRumm s ?

(A) anffss =rim e (B) worbra Twam

(C) Torren waTg FwmATe (D) U fAevehe g

o watath ara wate faer ‘

()AsfrB  (R)ABID (3)B,CaIrD (%) vl ad
.4, . HETTAT e WEwd SwHT ST 30F 9t 24 @1 IO T FgUIaTa ?

(%) sihet (R) =T (3) W (¥) wfd waed
... mmaﬁmm%aﬁmmmaﬁ-guﬁﬁamﬁ? :

(2) =t Im () SreTud (3) PR e (%) B Tied
.48, ‘mm%aﬁﬁamq\mg%mﬂﬁmmﬁmmm?

(%) o () wifsrgi (3) wr () S

T.80. HWRAE ...... T foaw “wagr @ @ " et St
(2) 2R SMEE (R) R4 THER (3) 2¢ SHaT (¥) 3% IHaE

w.8¢. wmmnef wsg Paer - wdfo

() = () & (3) s (¥) Ig
.83, HIe TRee @eal wam BET.

(%) woft () wepde wadl  (3) o/ Had  (¥) 9@
T.§3. WK 7T VeE HIUTEAT AHIET HTE ?

(2) frameg (k) Benfadeor  (3) g (¥) egenfad
W.§%. . YE® qreETET TER ASWT ~ WS, TEA .

(2) srsmeff () epmeff (3) el . - (¥) fauwne
T.8u. @t wEar - Ry | |
o w+f R+ (3) v + g, (¥)"wg + fog
.55, Tagews geate wyal 208y o AENE HOf FS AR ?
(2) sfres (R) T (3) enifen (¥) o

.60, WHAT uRSERY ...... e W TS SR
U.6¢. WIHTGAhT HITTAT Teas T ATE ?

() Teaafifa 0 (VAT) (3) A
(3) feshrmt : T (¥) EEE R
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7
7.63. HrEa Joan
& |
(2) Freemmen : (31) amTE
(?) guw (=) wisft o
(3) gHiwr | (=) Ty o
(%) =g srmE (3) FT@wmet AT
(2) 8-, -9, 3-8, ¥ () £-31, 3-%, 3-9, ¥-5
(3) £-9, 3-8, 3-%, Y- (¥) ¢-%,3-A-3-9, ¥-%
T.60. WA Fasum o w wE i @ :
(%) WaER A TR HL. (R) SHEERTS AHIET H,
_ (3) SRR B 0. (%) Faes .
.08, Vg veaTen A watm faer 3 '
Ry ) HEH (3) v (¥) feremf
.93, ‘vﬁ@mmﬁé’mmmﬁﬁammm-WM?
(2) sffEm  (]) somEEE (3) gad (¥) adt®
T.93. ‘UEEdl’ qT VT WA Sl
(2) fe () wHuTE (3) doges (¥) wgiTar

T.o¥. ‘UU WA A TEEA WA A G AGRMGG S¢ I Vg IgwarH!

(2) = St () wwfeaTs
(3) ez (¥) T T8
T.ok. SIS TEURS - ' ' '
(2) =meft S (R) 3T
(3) W SRW (x) et A . :
w.08. TE fUeTie TR wivw W T fe gedhuen smvams sruftm .
M (2) D.NA. (RADRNA. . .(3) Cry-l . (¥) Norain
T.96. DOTS T IUAR HIUTAT FTUMTATS! HTE ? _
©(2) st () TeE (3) wifefem () &
W.oc. Wil wata Her wrdw R (Carbon sink) YT 3R ?

(2) & () wEETR (3) gata fam (¥) %
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¥.e%. TS wrEl.
' L) Eeau

(R) @i (31) sy

() ER () Sroae

(3) fog (=) FEEw

(¥) wrast () TaETE

(2) -, 3-9, 3-8, ¥-A (R) 2-8, -, 3-9, ¥-3A

(3) 2-9, -, 3-8, ¥-A (¥) 2-3, :-%, 3-8, ¥-9
T.¢0. THE urior s At (NRHM) siaita o (ASHA) wuﬁf&mm

. ETHEUH! WU HE S AT ?

(31) TG TTET WIAHT SARTERET R WgRa S,
(%) wiguTsT ArEviETd S e g
(%) diwe ATER T FHteRwTETE Wit gefem.
(®) st =0t (Conducting Delivery). .
() HFTH RIFa= 3)FAa= . (¥ HIIH

W.CR. 200 U ¥00 WA I T 3 e TwaT SRUTSAT Hea el 7

(RY 48 - < (3) %4 (2) %% (¥) ¢x
W.(3. WHE wEaTAIiRG SyAiuETear St womd wea 5w ?
4 7., 1 '
3’12 1596
® % R OF () =

i ﬁ?ﬂqmaﬁuﬁﬁm tsaoﬁumﬁn’mm% a@vﬁmmwﬁmﬁm
g, @ fAde=n s e T Teet e ?

- (8) TEAR (?) "R (3) wFER (¥) Teham

W.¢¥  India has tried its best to put a Government in place that seemed to be ......
best alternative available.

(2)a (Wan - (@ (¥) none
U.¢% It made fans frantic for the start ...... football action.

(%) of (R) off (3in " . . (¥) on
W.¢&  Well...... don't respect creaﬁvity ...... it will flow out of the country.

() i () 5 (3) ;! B
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9
0.c9 Usuﬁlly wetry...... away from it. _
(2) torun . (?) running - (3) run (¥) runned
T.¢¢  Which of the following pairs has similar meaning?
(2) difficult-hard (R) week-weak (3) serious-veryill  (¥) rude-polite

W.¢%. Qamlémxcoﬁum.a&wﬁmmm,mmwa
. qEeat @iaTdte atax TRt ?

_ (%) 2R0 . () 2R¢ . (3) two . (¥) I .
¥.0. QU R AICATIHA HEATHTSAT &. 34 Ariada firfte wrer @ wreten fadt st
(2) ¥ e () & 5= (3) 3 J= () s

.%%. UeHT Wihfaes AT 573 °1 319 bring cold water 31T grat; 342 =1 a1 water is
good 7|1 grat & bright good boy T W&t 126 €T Hehal ATIATd, W boy is

bright |1 WHtadd! HIU Haha Adte ?
(2) 671 (R) 574 (3) 641 (¥) 673
¥.%%. AEIM:OSWA::CGKO:? o
(2) QUYC () VQCY (3) YWOS (¥) BCEM
w.83. ‘o ot ‘@ whw wundd, ‘g Aren g geht o, @ ‘w’ @ ‘@ <t wmior?
(2) =it () o (3) goht (%) =@
W.%%¥  Write the opposite of the word boring.
(2) dull (?) bright (3) interesting (¥) lazy
q.%4  Whatis the official counting of a country's population called?
(2) counting (?) election (3) budget (¥) census
U.%%  Plural form of witness is.
(%) witnesses (R) witness (3) witnesss " (¥) witneses
T.%9  Alarge number of villagers prefer to marry ...... girls when they turn 18 instead
of letting them continue their studies.
(%) of AR (3) about (¥) off

¥.%¢ - Heworked with single-minded devotion. Find out adjective in the sentence.
(2) single () minded (3) single-minded ~ (¥) none
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ugufiET @uE - 33 (ST gl IAwEl) EHeTr

2 (2) = (3)
22 (%) 2R (3)
2 (R) R (3)
32 (2) 32 ()
%2 () ¥R (3)
ug (3) 42 (¥)
& (3) & (?)
e (?) 2 (?)
¢? (R) ¢2 (3)
22 (3) %2 (9)

3(3) ¥(3) w(®) &(RR) () <@ R0 R
23 (3) 2¥ (?) 24 (¥) 25 (3) %9 (3) %¢ (2) 2% (3) 20 (%)
23 (%) ¥ (%) 3 (¥) | (R) R6 (3) ¢ (¥) R (R) 30 (%)
33 (%) 3% (2) 34 () 38 (¥) 390 (R) 3¢ (2) 3% (R) %0 (R)
¥3 (%) ¥¥ () ¥ () ¥& (3) ¥o (¥) ¥¢ (?) ¥2 (?) w0 (R)
w3 () u¥ (3) 4k (3) & () e (2) ¢ (R) 42 (3) 80 (?)
&3 (¥) 8 (?) su (¥) &8 (%) &6 (?) s¢ (¥) &2 (%) 90 (?)
3 (2) o¥ (%) o (3) W& (¥) vo (¥) ¢ (R) R (R) ¢0 (3)
¢3 (8) ¢¥ (3) ¢t (%) <& (R) ¢o (R) ¢ (%) ¢’ (R) 20 (¥)
23 (2) %% (3) ?% (%) %8 (%) %e (¥) %¢ (3)
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